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PERCENTAGE WORK SHEET 
 

15. On selling a chair at 7% loss and a table at 17% gain, a man gains Rs. 
296. If he sells the chair at 7% gain and the table at 12% gain, then he 
gains Rs 400. The actual Price of the table is.  
 xU ehw;fhypia 7% e~;lj;jpYk;> xU Nki[ia 17% ,yhgj;jpYk;> 
tpw;gjdhy; xUtUf;F & 296 ,yhgkhf fpilf;fpwJ. mNj 
ehw;fhypia 7% ,yhgj;jpYk; Nki[ia 12% ,yhgj;jpYk; tpw;why; 
mtUf;F & 400 ,yhgkhf fpilf;fpwJ. vdpy; Nki[apd; cz;ik 
tpiy vt;tsT?  
Solution:  
  Let C.P. of chair = 100x 
    C.P. of Table = 100y 
   7% loss on chair  

   = 
7

100
100

x  

   Loss = 7x  
   17% gain for Table  

    
17

100
100

y  = 17y 

- 7x + 17y = 296    (1) 
7% gain in chair  

= 
7

100
100

x = 7x 

12% Gain for Table  

= 
12

100
100

y  = 12y  

7x + 12y = 400     (2)  
1 + 2 
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7x 17 296

7

y

x

 

 12 400

29

y 

696y  24

 

y = 24 

Put 24 is (2) 
+7x + 288 y = 400 
7x = 112  

x = 16 

Price of Table is 100y. 
  = 100 × 24  
 Table = Rs. 2400  
 

15 Mark Questions 
 

16. A book seller sells a book at a profit of 10%. If he had bought if at 4% 

less and sold it for Rs. 6 more, he would have gained 18 
3

4
 %. The 

cost price of the book is  
xU Gj;jfj;ij 10% ,yhgj;jpy; tpw;fpwhh;. mNj Gj;jfj;ij 4% 

Fiwj;J thq;fp & 6 mjpfkhf tpw;Fk; nghOJ 18
3

4
% ,yhgk; 

fpilf;fpwJ vdpy;> me;j Gj;jfj;jpd; thq;fpa tpiy vd;d?  
Solution:  
  Let C.P = 100x 
  S.P. = C.P + Profit  
  = 100x + 10% of 100x  

  = 100x + 
10

100
100x  

S.P = 110x 

 
 Had he bought 4% less  
 CP2 = CP1 = 4% of CP1  

  = 100x - 
4

100
 × 100x  

CP2 = 96x  

 SP2 = CP2 + Gain 

  = 96x + 18
3

4
% of 96x  
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  = 96x + 
75

3

400 16

96
6

 

  = 96x + 18x 
  

SP2 = 114x  

 
  SP2 – SP1 = 6 
  114 x – 110x = 6  
  4x = 6 

  x = 
6

4
 

  x = 
3

2
 

 Put x =
3

2
 in 100x  

 CP = 100 × 
3

2
 

  

CP = Rs. 150 

 
17. The value of a machine depreciates at 10% per year. If the present 

value is Rs.1458000, what is the worth of the machine  
xU ,ae;jpuj;jpd; jw;Nghija kjpg;G & 1458000. xt;nthU 
Mz;Lf;Fk;  mt;tpae;jpuj;jpd; kjpg;G 10% FiwfpwJ. vdpy; 
mt;tpae;jpuj;jpd; kjpg;G?  
 
i. After three years  
   %d;W Mz;LfSf;F Kd;G  
 
ii. Before three years  
  %d;W Mz;LfSf;F gpd;G  
Precent Value of Machine = 1458000 
Depreciates at 10% per year  
 
i. After three year  

 D = 1
100

n
R

P
 
 

 
 

  = 1458000 
3

10
1

100

 
 

 
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  = 1458000 × 
3

90

100

 
 
 

 

  = 1458000 
90 90 90

100 100 100
    

  = 1458 × 729 
Value of Machine After 3 years = 10,62,882  
 
ii. Value of Machine Before three years  

  

1
100

n

D
P

R

 
 

 

 

  
3

1458000

10
1

100

P
 
 

 

] 

   
3

1458000

90

100


 
 
 

 

  = 
1458



2

000

9 0

10 0

9


0

10 0

9


0

10 0

 

Value of Machine Before three years = Rs. 2000000  
   

18. (a) A trader buys and article for Rs. 1200 and marks it 30% above the 
C.P. He then sells it after allowing a discount of 20%. Find the S.P. 
and Profit percent. 
xU tpw;gidahsh; xU nghUis & 1200 f;F thq;fp mjid mjd; 
thq;fpatpiyapypUe;J 30% cah;j;Jfpwhh; cah;j;jpa gpd; 20% 
js;Sgb mspf;fpwhh; vdpy;> mjd; tpw;wtpiy kw;Wk; ,yhg rjtPjk; 
vd;d?  
 
(b) The income of a Person is increased by 20% and then decreased by 
20%. Find the change in his income.  
xU eghpd; tUkhdk; 20% mjpfhpf;fg;gLfpwJ gpd;G> 20% Fiwf;fg; 
gLfpwJ. mthpd; tUkhdj;jpy; Vw;gLk; rjtPj khw;wk; vt;tsT?  
Solution:  
 C.P of article = Rs. 1200  
  Mark up = 30%  
 Marked price = C.P + Mark up  

    = 1200 + 
30

1200
100

  
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    = 1200 + 360  

Marked Price = Rs. 1560  

 
  S.P = M.P – Discount  

  = 1560 – 
2 0

100
156 0  

  = 1560 – 312  

SP = Rs. 1248 

  Profit % = 
Pr

100
.

ofit

C P
  

  Profit = S.P – C.P  
   = 1248 – 1200 
  Profit = 48  

  Profit % = 
48

12 00
100  

  Profit = 4%  
 
B. Let Income of a person be 100x 
 Increased by = 20%  

   I = 1
100

x
A
 
 

 
 

   = 100x 
20

1
100

 
 

 
  

   = 100x 
100 20

100

 
 
 

 

 Increased Income = 120x 
   Decreased by 20%  

   D = 1
100

x
A
 
 

 
 

   = 120x 
20

1
100

 
 

 
 

   = 120x × 
80

100
 

   

D = 96x 

  
 Change in his Income = 100x – 96x =  4x 

    
4

100
100

x

x
   

Change in income = 4% 
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19. In a school of 4000 students, 50% know French, 75% know Tamil, and 

12 
1

2
% know Hindi, 37

1

2
% know French and Tamil, 7

1

2
% know 

French and Hindi, 5% know Tamil and Hindi and 1 
1

4
% of all three 

language.  
xU gs;spapy; 4000 khzt khztpfs; cs;sdh;. mjpy; 50% NgUf;F 

gpnuQ;R> 75% NgUf;Fj; jkpo;> 12
1

2
% NgUf;F `pe;jp njhpAk;. 37

1

2
% 

NgUf;F gpnuQ;R kw;Wk; jkpo;> 7
1

2
% NgUf;F `pe;jp kw;Wk; gpnuQ;R> 

5% NgUf;F jkpo; kw;Wk; `pe;jp> 1 
1

4
% NgUf;F ,k; %d;W 

nkhopfSk; njhpAnkdpy; gpd;tUtdtw;iwf; fhz;f.  
 
i. How many do not know any of the three languages?  
  %d;W nkhopfSk; njhpahjth;fspd; vz;zpf;if  
 
ii. How many know at least one language?  
  Fiwe;jJ xU nkhopahtJ njhpe;jth;fspd; vz;zpf;if  
 
iii. How many know only two language?  
  ,uz;L nkhopfs; kl;Lk; njhpe;jth;fspd; vz;zpf;if?  
Solution:  
  Total n(U) students = 4000  
  French n(F) = 50% of French  

     = 
1

2
  4000 

France = 2000  

 

  Tamil = 
75

100
40 00  

  n(T)  

Tamil = 3000 

  12
1

2
% of Hindi n(H)  

  = 
1

8
  4000 

    

Hindi = 500  
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 French = 
1

37 %
2

 of 4000  

    Tamil  
 n(F  T) =  
    
    Tamil  

 French & Hindi = 7
1

2
% of 4000 

    =  
15

2 00
40
20

00  

  n (F H)  
   

French & Hindi = 300  

Tamil & Hind = 5% of 4000  

   = 
5

4000
100

  

  n(T  H)  
  

Tamil & Hindi = 200  

All the three = 
1

1 %
4

 of 4000  

  n(F  H  T) = 
5

400
4000 

All the three = 50  

 
1. Number of students who do not know any of three language.  

= n(U) = {n*F) + n(T) = n(H) – n(F T) – n(F H) – n(T H) + n(T
 H  F)} 

 = 4000 – {2000 + 3000 + 500  
- (1500 + 300 + 200 + 50) 

= 4000 – 3500  
= 450  

 
2. Number of students who know at least one language.  

= n((H)  + n(T) + n(H) – n(F T)  
- n(F H) – n(T  H) + n(T  H  R)  
 = 2000 + 3000 + 500 – (1500 + 300 + 200 + 50} 
 = Number of students who know at least one language = 
3550 
 

French = 1500  
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3. Number of students who know only two languages  
  = n(F  T) + n((F  H) = n(T  H)  
  - n(T  H  F) – n(T  H  F) – n(T  H  F)  
  = 1500 + 300 + 200 
  = 2000 – 150 
  = 1850 

 
20. On selling a T.V. at 5% gain and a fridge at 10% gain, a shopkeeper 

gains Rs. 2000. But if he sells the T.V. at 10% gain and the fridge at 5% 
loss, he gains Rs. 1500 on the transaction. Find the actual Price of T.V. 
and the fridge.  
xU njhiyf;fhl;rp ngl;bia 5% ,yhgj;jpw;Fk;> xU Fsph;rhjdg; 
ngl;bia 10% ,yhgj;jpw;Fk; tpw;gjhy; filf;fhuUf;F epfu ,yhgk; 
& 2000 fpilf;fpwJ. Mdhy; mth; xU njhiyf;fhl;rpg; ngl;bia 
10% ,yhgj;jpw;Fk;> xU Fsph;rhjdg; ngl;bia 5% e~;lj;jpw;Fk; 
tpw;gjhy; mthpd; epfu ,yhgk; & 1500 fpilf;fpwJ vdpy;> 
njhiyf;fhl;rpg; ngl;b kw;Wk; Fsph;rhjdg; ngl;bapd; rhpahd 
tpiyfisf; fhz;f.  
Solution:  
  Let price of TV = 100x  

  On 5% gain on TV = 
5

100
100

x  

Gain on = 5x  

 Let price of Fridge = 100y 

 10% gain of Fridge = 
10

100
100

y  

    

Gain on Fridge = 10y  
 
 5x + 10y = 2000        (1)  
 If 10% gain on TV 

   = 
10

100
 100 x  

   = 10x 

 5% loss on Fridge = 
5

100
100 y  

  (-) Denotes loss  
   
  10x – 5y = 1500       (2)  
 

Loss = (-5y)  
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 (1) + (2) × 2 

    

5 10 2000

20 10 3000

25

x y

x y

 

 

50x  00

 

    
5000

25
x  

    x = 200 
 Substitute x = 200 in  
  5 (200) + 10y = 2000  
  1000 + 10y = 2000  
   10y = 1000  
   y = 100 
 Price on TV = Rs. 20000      
 Price on Fridge = Rs. 10000      
 
 


